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QUESTION 1

Which type of EIGRP route entry describes a feasible successor? 

A. a backup route, stored in the routing table 

B. a primary route, stored in the routing table 

C. a backup route, stored in the topology table 

D. a primary route, stored in the topology table 

Correct Answer: C 

http://www.cisco.com/en/US/tech/tk365/technologies_tech_note09186a0080093f07.shtml 

Feasible Successors A destination entry is moved from the topology table to the routing table when there is a feasible
successor. All minimum cost paths to the destination form a set. From this set, the neighbors that have an advertised
metric less than the current routing table metric are considered feasible successors. Feasible successors are viewed by
a router as neighbors that are downstream with respect to the destination. These neighbors and the associated metrics
are placed in the forwarding table. When a neighbor changes the metric it has been advertising or a topology change
occurs in the network, the set of feasible successors may have to be re-evaluated. However, this is not categorized as a
route recomputation. Feasible successor is a route whose Advertised Distance (AD) is less than the Feasible Distance
(FD) of the current best path. A feasible successor is a backup route, which is not stored in the routing table but, stored
in the topology table. 

 

QUESTION 2

Refer to the exhibit. 
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The Lakeside Company has the internetwork in the exhibit. The administrator would like to reduce the size of the routing
table on the Central router. Which partial routing table entry in the Central router represents a route summary that
represents the LANs in Phoenix but no additional subnets? 

A. 10.0.0.0/22 is subnetted, 1 subnets D 10.0.0.0 [90/20514560] via 10.2.0.2, 6w0d, Serial0/1 

B. 10.0.0.0/28 is subnetted, 1 subnets D 10.2.0.0 [90/20514560] via 10.2.0.2, 6w0d, Serial0/1 

C. 10.0.0.0/30 is subnetted, 1 subnets D 10.2.2.0 [90/20514560] via 10.2.0.2, 6w0d, Serial0/1 

D. 10.0.0.0/22 is subnetted, 1 subnets D 10.4.0.0 [90/20514560] via 10.2.0.2, 6w0d, Serial0/1 

E. 10.0.0.0/28 is subnetted, 1 subnets D 10.4.4.0 [90/20514560] via 10.2.0.2, 6w0d, Serial0/1 

F. 10.0.0.0/30 is subnetted, 1 subnets D 10.4.4.4 [90/20514560] via 10.2.0.2, 6w0d, Serial0/1 

Correct Answer: D 

All the above networks can be summarized to 10.0.0.0 network but the question requires to "represent the LANs in
Phoenix but no additional subnets" so we must summarized to 10.4.0.0 network. The Phoenix router has 4 subnets so
we need to "move left" 2 bits of "/24-> /22 is the best choice - D is correct. 

 

QUESTION 3

Refer to the exhibit. 
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When running EIGRP, what is required for RouterA to exchange routing updates with RouterC? 

A. AS numbers must be changed to match on all the routers 

B. Loopback interfaces must be configured so a DR is elected 

C. The no auto-summary command is needed on Router A and Router C 

D. Router B needs to have two network statements, one for each connected network 

Correct Answer: A 

Here we required same autonomous system between router A,B,C.Routing updated always exchange between in same
EIGRP EIGRP autonomous system.you can configure more than one EIGRP autonomous system on the same router.
This is typically done at a redistribution point where two EIGRP autonomous systems are interconnected. Individual
router interfaces should only be included within a single EIGRP autonomous system. Cisco does not recommend
running multiple EIGRP autonomous systems on the same set of interfaces on the router. If multiple EIGRP
autonomous systems are used with multiple points of mutual redistribution, it can cause discrepancies in the EIGRP
topology table if correct filtering is not performed at the redistribution points. If possible, Cisco recommends you
configure only one EIGRP autonomous system in any single autonomous system. 

http://www.cisco.com/en/US/tech/tk365/technologies_tech_note09186a0080093f07.shtml 

 

QUESTION 4

It has become necessary to configure an existing serial interface to accept a second Frame Relay virtual circuit. Which
of the following are required to solve this? (Choose three) 

A. configure static frame relay map entries for each subinterface network. 

B. remove the ip address from the physical interface 

C. create the virtual interfaces with the interface command 

D. configure each subinterface with its own IP address 

E. disable split horizon to prevent routing loops between the subinterface networks 

F. encapsulate the physical interface with multipoint PPP 
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Correct Answer: BCD 

How To Configure Frame Relay Subinterfaces http://www.orbit-computer-solutions.com/How-To-Configure-Frame-Relay-
Subinterfaces.php 

Step to configure Frame Relay subinterfaces on a physical interface: 

1.

 Remove any network layer address (IP) assigned to the physical interface. If the physical interface has an address,
frames are not received by the local subinterfaces. 

2.

 Configure Frame Relay encapsulation on the physical interface using the encapsulation frame- relay command. 

3.

 For each of the defined PVCs, create a logical subinterface. Specify the port number, followed by a period (.) and the
subinterface number. To make troubleshooting easier, it is suggested that the subinterface number matches the DLCI
number. 

4.

 Configure an IP address for the interface and set the bandwidth. 

5.

 Configure the local DLCI on the subinterface using the frame-relay interface-dlci command. Configuration Example:
R1>enable R1#configure terminal R1(config)#interface serial 0/0/0 R1(config-if)#no ip address R1(config-
if)#encapsulation frame-relay R1(config-if)#no shutdown R1(config-if)#exit R1(config-subif)#interface serial 0/0/0.102
point-to-point R1(config-subif)#ip address 192.168.1.245 255.255.255.252 R1(config-subif)#frame-relay interface-dlci
R1(config-subif)#end R1#copy running-config startup-config 

 

QUESTION 5

Select and Place: 
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Correct Answer: 

 

 

QUESTION 6

What is the result of issuing the frame-relay map ip 192.168.1.2 202 broadcast command? 

A. defines the destination IP address that is used in all broadcast packets on DCLI 202 

B. defines the source IP address that is used in all broadcast packets on DCLI 202 

C. defines the DLCI on which packets from the 192.168.1.2 IP address are received 

D. defines the DLCI that is used for all packets that are sent to the 192.168.1.2 IP address 

Correct Answer: D 

Frame-relay map ip 192.168.1.2 202 command statically defines a mapping between a network layer address and a
DLCI. The broadcast option allows multicast and broadcast packets to flow across the link. The command frame-relay
map ip 192.168.1.2 202 broadcast means to mapping the distal IP 192.168.1.2 202 to the local DLCI . When the
"broadcast" keyword is included, it turns Frame Relay network as a broadcast network, which can forward broadcasts.
http://www.cisco.com/en/US/docs/ios/wan/command/reference/ wan_f2.html#wp1012264 
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QUESTION 7

Which two statements describe the process identifier that is used in the command to configure OSPF on a router?
(Choose two.) Router(config)# router ospf 1 

A. All OSPF routers in an area must have the same process ID. 

B. Only one process number can be used on the same router. 

C. Different process identifiers can be used to run multiple OSPF processes 

D. The process number can be any number from 1 to 65,535. 

E. Hello packets are sent to each neighbor to determine the processor identifier. 

Correct Answer: CD 

we all know that The areas can be any number from 0 to 4.2 billion and 1 to 65,535 for the Process ID. The process ID
is the ID of the OSPF process to which the interface belongs. The process ID is local to the router, and two OSPF
neighboring routers can have different OSPF process IDs. (This is not true of Enhanced Interior Gateway Routing
Protocol [EIGRP], in which the routers need to be in the same autonomous system). Cisco IOS Software can run
multiple OSPF processes on the same router, and the process ID merely distinguishes one process from the another.
The process ID should be a positive integer. 

 

QUESTION 8

Refer to the exhibit 
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. 

Which switch provides the spanning-tree designated port role for the network segment that services the printers? 

A. Switch1 

B. Switch2 

C. Switch3 

D. Switch4 

Correct Answer: C 

 

First, the question asks what switch services the printers, so it can be Switch 3 or Switch 4 which is connected directly
to the Printers. Designated port is a port that is in the forwarding state. All ports of the root bridge are designated ports.
Switch 3 and Switch 4 has same priority so it will see on lowest MAC address and here switch 3 has lowest MAC
address. So switch 3 segment will play a Designated port role. By comparing the MAC address of Switch 3 and Switch 4
we found that the MAC of Switch 3 is smaller. Therefore the interface connected to the Printers of Switch 3 will become
designated interface and the interface of Switch 4 will be blocked. 

 

QUESTION 9

The command show frame-relay map gives the following output: 

Serial 0 (up): ip 192.168.151.4 dlci 122, dynamic, broadcast, status defined, active 

Which statements represent what is shown?(Choose three.) 
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A. 192.168.151.4 represents the IP address of the remote router 

B. 192.168.151.4 represents the IP address of the local serial interface 

C. DLCI 122 represents the interface of the remote serial interface 

D. DLCI 122 represents the local number used to connect to the remote address 

E. broadcast indicates that a dynamic routing protocol such as RIP v1 can send packets across this PVC 

F. active indicates that the ARP process is working 

Correct Answer: ADE 

http://www.cisco.com/en/US/docs/ios/12_2/wan/command/reference/wrffr4.html#wp1029343 

 

QUESTION 10

What are three factors a network administrator must consider before implementing Netflow in the network? (Choose
three.) 

A. CPU utilization 

B. where Netflow data will be sent 

C. number of devices exporting Netflow data 

D. port availability 

E. SNMP version 

F. WAN encapsulation 

Correct Answer: ABC 
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QUESTION 11

What are two characteristics of a switch that is configured as a VTP client? (Choose two.) 

A. If a switch that is configured to operate in client mode cannot access a VTP server, then the switch reverts to
transparent mode. 

B. On switches that are configured to operate in client mode, VLANs can be created, deleted, or renamed locally. 

C. The local VLAN configuration is updated only when an update that has a higher configuration revision number is
received. 

D. VTP advertisements are not forwarded to neighboring switches that are configured in VTP transparent mode. 

E. VTP client is the default VTP mode. 

F. When switches in VTP client mode are rebooted, they send a VTP advertisement request to the VTP servers. 

Correct Answer: CF 

VLAN Trunking Protocol (VTP) http://archive.networknewz.com/2004/0317.html 

VTP Modes Server Mode Once VTP is configured on a Cisco switch, the default mode used is Server Mode. In any
given VTP management domain, at least one switch must be in Server Mode. When in Server Mode, a switch can be
used to add, delete, and modify VLANs, and this information will be passed to all other switches in the VTP
management domain. Client Mode When a switch is configured to use VTP Client Mode, it is simply the recipient of any
VLANs added, deleted, or modified by a switch in Server Mode within the same management domain. A switch in VTP
client mode cannot make any changes to VLAN information. Transparent Mode A switch in VTP Transparent Mode will
pass VTP updates received by switches in Server Mode to other switches in the VTP management domain, but will not
actually process the contents of these messages. When individual VLANs are added, deleted, or modified on a switch
running in transparent mode, the changes are local to that particular switch only, and are not passed to other switches in
the VTP management domain. 

 

QUESTION 12
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To allow or prevent load balancing to network 172.16.3.0/24, which of the following commands could be used in R2?
(Choose two.) 

A. R2(config-if)#clock rate 

B. R2(config-if)#bandwidth 

C. R2(config-if)#ip ospf cost 

D. R2(config-if)#ip ospf priority 

E. R2(config-router)#distance ospf 
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Correct Answer: BC 

OSPF Cost http://www.cisco.com/en/US/tech/tk365/technologies_white_paper09186a0080094e9e.shtml#t6 The cost
(also called metric) of an interface in OSPF is an indication of the overhead required to send packets across a certain
interface. The cost of an interface is inversely proportional to the bandwidth of that interface. A higher bandwidth
indicates a lower cost. There is more overhead (higher cost) and time delays involved in crossing a 56k serial line than
crossing a 10M ethernet line. The formula used to calculate the cost is: cost= 10000 0000/bandwith in bps For example,
it will cost 10 EXP8/10 EXP7 = 10 to cross a 10M Ethernet line and will cost 10 EXP8/1544000 =64 to cross a T1 line.
By default, the cost of an interface is calculated based on the bandwidth; you can force the cost of an interface with the
ip ospf cost interface subconfiguration mode command. 
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